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. WA Mgl | wE | KR | mm | omE |T0ed| NI =M
] & k =%k
K4 g FEES | NEGL pt [NERL pt [MEGL pt |NEGL pt |NEGL pt
1 WK H{EF KR#EOK 41 1 10/ 1 10| 2 9| 5 6 29 35 4
2 FWRF OLCABIES>9d 40| 2 9 8 3 12 12 2
2 HE R £KO0OLC 3 8| 7 4 12 12 2
BINERLF H#BDE 1 10 10 10 1
I BEE  #AO0LC 110 10 10 1
#H BE 1 10| 10 10 1
hndh i+ KEOK 2 9 9 9 1
SFHBIM  FTAOLC 2 9 9 9 1
STRESE BLUxZBEXE 3 8 8 8 1
AEEE WAOLC 3 8 8 8 1
Ak H9 = £AKROLC 4 7 7 7 1
FHEEF fgZoLc 4 7 7 7 1
FHHEAF OLCEHiHi& 6 5 5 5 1
(ORI S ME™ 9 2 2 2 1
JLH 2F fRKOLC 22 [DISQ_0 0 0 1
BT £ KOLC DISQ 0 0 0 1
= W35 Mgl | ma | KR | omm | omm |8 B
[} & k Bk
K4 Bl FEE | IEGL pt [MERL pt [MERL pt |NEGL pt |NEGL pt
1 BH HBF Team Zebra 3 8| 3 8| 2 9 25 25 3
2 RHE EF 43 1 10| 2 9 19 19 2
ARk F ESEiEC 1 10 10 10 1
i AF g [oLC 110 10 10 1
HE #8F 1 10| 10 10 1
AWRF OLCABIEST 2 9 9 9 1
. W50 g | wm | kR | m=m | owa SRR3R EH
] & k =%k
K& AR W5 NEHRL pt [NEST pt [MEGL pt | IBGL pt
1 WK BF ESBH®RC 61 [ 3 8 1 10 2 9f 1 10] 2 9] 29 46 5
2 HE BEF OLCEH m & 55 1 10 2 9| 3 8| 2 9| 4 7 28 43 5
3 A@E E=RF FTHOLC 77 3 8 3 8| 3 8 24 24 3
BEH ONMEF TeamBEHE 1 10 10 10 1
FHH FHKE oLcLA 1_10f 10 10 1
Z By OLPEE 69 | 2 9 9 9 1
IH REF aAE—X DISQ 0 0 0 1
= MA mpul | mm | xw | mE | omm | SARS| R B
[} & k =%k
K4 g FEE | NEGL pt [NEGL pt [MEGL pt |NEGL pt |NEGL pt
1 WGE BT gMoLc 0 1 15| 1 15 1 15|DISQ O 45 45 4
2 KiIEB OLPE[E 48 | 2 14| 3 13| 4 12| 4 12 39 51 4
3 AEE K KXHOLC 19 3 13 7 9 1 15| 37 37 3
4 THE HB— oLCcL# 55 9 717 9 5 11| 27 27 3
5 B 2 BRAOLC 21 | 5 11| 4 12 23 23 2
ELETD OLCEH k% 221 4 121 9 7] 14 2 21 21 3
6 fEH BEH BrXOLC 22 2 14 9 7 21 21 2
8 FHIE HEH =saoLC 3 13| 13 3 16 16 2
9 Al B OLPEE DISQ 0| 3 13| 13 13 2
10 FLl k& KOLA 34| 12 4]l12 4|19 o] 12 4 12 12 4
1 &% A OLPE[E 13 3 8 8 11 11 2
12 3RO t$HE BRAOLC 21| 6 10 16 0 10 10 2
13 KHEE KErxOLC 48 | 7 9 37 0|20 O 9 9 3
14 thiff E BRAOLC 20 10 6| 15 1 7 7 2
14 i BH =3a[0LC 53 i1 5 14 2 7 7 2
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ﬁ MAD S ag | w8 | Am | mm | owm |S2FY T 2N
K4 g FEES | NEGL pt [NERL pt [MEGL pt |NEGL pt |NEGL pt

16 R thigt OLPEE 26 0 11 5 5 5 2

17 K¥ EN KirOLC 30 18 0 21 0| 12 4 4 4 3

18 /N & XBROLC 30| 14 2 32 0 2 2 2

19 FU Hz OLPE[E 30 0| 15 1 1 1 2

20 EREF JEOK R KOLC 19 DISQ 0] 27 0 0 0 2
WT BEE HRUVAXNTALR 1 15 15 15 1
Bl - 2 14| 14 14 1
BIERX OLCJL—/8— 2 14 14 14 1
EA ##EF B ERFE 2 14 14 14 1
& Jth B 3 13 13 13 1
f2H #H REROLC 4 12| 12 12 1
e EZE LA 5 11 11 11 1
b= =i BRAKOLC 5 11 11 11 1
R AR 27 5 11 11 11 1
XIE 5  OLPEE 610 10 10 1
=2 EX BxXOLC 21 6 10 10 10 1
®k E— £K#EOK 6 10| 10 10 1
T BX WAOLC 6 10 10 10 1
R& M7 HHEDE 7 9 9 9 1
BIX FEBiz FTIUK 7 9 9 9 1
AL fiEx FETES 271 8 8 8 3 1
WiE #2th £ XKOLC 8 8 8 8 1
Ef e BRAXOLC 20 8 8 8 8 1
= BAE FEALKOLC 8 8 8 8 1
=i & 9 7 7 7 1
L ES KOLA 9 7 7 7 1
BEN EGE OLCS 3157 10 6 6 6 1
RN XK FTEXKOLC 10 6 6 6 1
=8 fRIA BxAXOLC 24| 10 6 6 6 1
ot EX FAOLC 10 _6 6 6 1
TH Rk& Bk RXOLC 21 ] 11 5 5 5 1
WA EF ESBEEZC 11 5 5 5 1
FH E RAROLC 11 5 5 5 1
Sle #| £ XKOLC 12 4 4 4 1
R ZE ABROLC 50 | 13 3 3 3 1
AK EZ WAOLC 13 3 3 3 1
FH KEH BEHEKXE 20 14 2 2 2 1
ey g% OLPEE 14 2 2 2 1
A =L KTC 15 1 1 1 1
HAT th3k  FTAKOLC 20 15 1 1 1 1
%K &=HH £ KOLC 38 0 0 0 1
2m\ Hih BxAXOLC 41 0 0 0 1
N EE B AXOLC 31 0 0 0 1
Rk —F mXAOLC 20 17 0 0 0 1
BRE flith WA(C—&HTa—F 40 0 0 0 1
BHEA 2<[EXROC 22 0 0 0 1
ER A& £ XO0LC 25 0 0 0 1
He = RARFY=YY 18 0 0 0 1
A F=F BrAXOLC 35 0 0 0 1
A5l £KOLC 36__0 0 0 1
HEH B £ KOLC 42 0 0 0 1
FEK EA [LEO0LC 23 0 0 0 1
FHEEZE  BRXOLC 24 0 0 0 1
R F—Lbkdb 29 0 0 0 1
WEg g $RXF 17_ 0 0 0 1
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" MAD & mg | w8 | Am | mm | owm |20 2N
K4 g FEES | NEGL pt [NERL pt [MEGL pt |NEGL pt |NEGL pt
e a8 2%FELOLC 25 0 0 0 1
WH B4 mAOLC 34 0 0 0 1
MR RE BWREOLY 5T 19 0 0 0 1
INE —i8 LRUVAKIINSHALR 17 0 0 0 1
EH RFE  ABROLC 29 19 0 0 0 1
=GRS OLCJL—/x— 16 0 0 0 1
¥ Al B A<OLC 32 0 0 0 1
=5 & NPO b —%& R 18 0 0 0 1
ER K WE™ 39 16 0 0 0 1
EXR EN KFIROLC 23 0 0 0 1
EAD LT mAKOLC 21 0 0 0 1
gk EF KEOK 20 0 0 0 1
HE = oLcL# 22 0 0 0 1
F0O X mAKOLC 39 0 0 0 1
FiE % HAOLC 28 0 0 0 1
= M35 mpl | ma | ok | Em | omm |SR3| RAr Sm
] & k =%k
K4 iz FEE | NEGL pt [NERL pt [MEGL pt |NEGL pt |NEGL pt
1 K BE— KOLA 44 2 93 8] 2 9| 1 10| 36 36 4
2 MNEFHE = mEOLC 46 | 4 7| 5 6 5 6| 4 7 26 26 4
3 IRAH BHE OLPEE 52| 5 6| 3 8| 8 3 5 6 23 23 4
4 M #—EF MHET™ 45| 6 5|DISQ 0| 9 2| 3 8| 7 4 19 19 5
4 te@ F OLC3%I$54 47| 2 9] 6 5 6 5 19 19 3
6 E FlsE oLCL# 53| 3 8 10 1] 4 7 16 16 3
7 EH E=E OLPE[E 53 1 10| 6 5 15 15 2
EARNIE 1 10 10 10 1
/iEEX OLPEE 50 110 10 10 1
2H HE JII#EOLC 110 10 10 1
& EE EEOLYSD 2 9 9 9 1
xRk 5— [REOLC 2 9 9 9 1
P ER E— OLCJL—/8— 3 8 8 8 1
KE B4 B 4 7 7 7 1
BME A fFLEHs 51 4 7 7 7 1
&K B [LEOLC 5 6 6 6 1
LA ER Team Heart Golds 6 5 5 5 1
& EF3 dLrmoLce 7 4 4 4 1
Ef & XBROLC 49| 7 4 4 4 1
2 HKER 7 4 4 4 1
EANEY 8 3 3 3 1
A & XBROLC 8 3 3 3 1
TE ® ZHOLC 9 2 2 2 1
Bip Bith METI 10 1 1 1 1
JIls B 3t AL OLC 11 0 0 0 1
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= M50 mpl | oma | ok | Em | omm |SR3| RAr Sm
] & k =%k
K4 g FEES | NEGL pt [NERL pt [MEGL pt |NEGL pt |NEGL pt
1 =i HE (EFE) 53 2 9| 1 10 2 9| 2 9| 1 10| 29 47 5
2 IMN\E BB #HEBOLC 61 1 10l 2 9| 3 8| 4 7 27 34 4
3 MIEy SE HHEOLC 56 3 8 6 5| 2 9 22 22 3
4 EHEFEZ YTC 63| 5 6| 4 7| 5 6|10 1| 4 7 20 27 5
5 WA {#35 ESE®C 64 | 4 7[DISQ 0| 4 7|DISQ 0 6 5] 19 19 5
6 AlE B =:mOLC 1 10 5 6 16 16 2
1 BB oLcL#+ 7 4| 3 8 12 12 2
8 HRMAN MILEHEE 51 5 6| 7 4 10 10 2
9 HAEE KBROLC 51 6 5 7 4 9 9 2
10 hE {E— KBROLC 9 2| 9 2 4 4 2
e JIl#&OLC 1 10 10 10 1
HdE mEOLYST 2 8 8 8 1
¥R B KEROLC 50| 3 8 8 8 1
2@ Bif OLCEHHIK 64 5 6 6 6 1
JEH TR TeamE 4 6 5 5 5 1
WX E% LION TRADING CO. 8 3 3 3 1
EE BA 8 3 3 3 1
TEEE F4N0LC 8 3 3 3 1
BENE LrEOLYST 11 0 0 0 1
= M65 mpl | oma | ok | Em | omm |SR3| RAr Sm
[} & k =%k
K4 iz | NEGL pt [NERL pt [MEGL pt |NEGL pt |NEGL pt
1 EBH BX I EEOLC 65 1 10 1 10| 1 10| 30 30 3
2 FE FE KOLA 65 | 1 10 2 9| 8 3| 3 8 27 30 4
3 ME EX OLPE[E 76| 3 8 2 9] 1 10 DISQ 0 27 27 4
4 ®HiA EFIE KOLA 66 3 8| 3 8| 2 9 25 25 3
5 iZME JTEA ABOLC 73 5 6 4 7 |DISQ 0O 13 13 3
6 AH BEXR FHIOLC 78 4 7 6 5 |DISQ O 12 12 3
£k ERER 2 9 9 9 1
INIE BRI =imoLC 69 | 2 9 9 9 1
SHEH JUES—R 3 8 8 8 1
AR Eh HHROLC 74| 4 7 7 7 1
FH R KOLA 4 7 7 7 1
=SEE ZEEOL 5 6 6 6 1
Put S 3 avs8—X 5 6 6 6 1
KITHEM mEOLYST 7 4 4 4 1
MBS KBROLC 9 21pisQ 0| 2 2 2
LHZE FE = 10 1 1 1 1
AR EE DISQ 0 0 0 1



